(1)  Test the hypothesis and interpret the results.

(i) What would be the three possible explanations
if a significant positive Correlation was found
between Arithmetic and Reading scores ?

12 S=di @l Th KM AN Th Tgd HI qhem

P E | TH WEEay ek r =+ 028 TE g3

JE qRehed i T oA fb TR WU % W TR

ThNHh Hedas e

() wReRew w1 THAT ity SR wRomE e
A IS |

(i) = R R Tgd & ohl & o T
Tl WhNIHe WeHd" Ul Tl d|
Horfed iR | B ?

(b) What is rank difference correlation ? Compute the
rank difference co-efficient of correlation from the
following data : 10
Variable 1 Variable 2

45 89

45 33

67 33

89 33

45 89
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Note :

Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.
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Compulsory Question ( &R WvT)

1. Give answers of the following in 25-30 words each : 16

(2)
(b)
(c)
(d)
(e)
®
(8)
(h)

p-value

Mediating wvariable
Correlation coefficient
Type-I error
Psychological research
Univariate approach
Laboratory experiment

Assumptions of Chi-square
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Unit I (SeRiE 1)

What do you understand by research problem ? Discuss
about formulation and sources of research problem in
detail. 16
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What is research hypothesis ? Explain in detail different
types of hypotheses. 16
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Unit IT (SoRTE 11)

How is field experiment different from field study ? 16
&9 yE, &9 erd 9 fRg yeR fae 7 2
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Write a detailed note on ex post facto research. 16
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Unit ITI (S&TE 111 )

(a) What are the characteristics of normal probability
curve ? 4
A= GeIdl ok hi foead @ & 2

(b) Given a normal distribution with a mean of 14.5
and standard deviation of 2.5. Assuming normality
how many individuals scored between : 12
(1) 12 and 16
(i) above a score of 20 in a sample of 1000

cases.
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(a) An Arithmetic and a Reading test were administered
to 12 children. A Correlation Coefficient of
r = + 0.28 was obtained. It was hypothesized that
there will be a positive correlation between the two

variables : 6
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89 66

76 58
78 59
34 81
48 70
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45 89
45 33
67 33
89 33
45 89
89 66
76 58
78 59
34 81
48 70

Unit IV (3&T3 IV)
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8. What is partial correlation ? 16 ThIHeh HEHaY i IRHG Hifeg |

Calculate r|, ; and r,;, of the following data :

Fip = 0.86 13 = 0.56 7,y = 0.88
STifeh WeHey W ¥ ? 8 11 6
ffafad e & 7,y 3R 7y, H T FIGT

5 8 8
ri, = 0.86, 13 = 0.56, ry; = 0.88 . . o
9. Define multiple correlation. 16
2 9 9
Compute multiple correlation R ;) and Ry

8 8 12

X4 X, X3
9 8 10

8 11 6
9 11 8

5 8 8
6 11 5

9 8 16
7 8 5

2 9 9

8 8 12

9 8 10

9 11 8

6 11 5

7 8 5
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